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Question Bank

1. Fill in the blanks in the distance of the point

P(xo, Yo, z0)from z axis is :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wev4nTHVaNeP

[,/:130 —I—yo, \/yo + zO, \/330 -+ zo,

\/(5'3—«’130) + (y — yo)]

° Watch Video Solution

2. Fill in the blanks in the length of the
projection of the line segment joining (1,3,-1)
and (3,2,4)on z-axis is

1, 3,4, 5]

o Watch Video Solution



https://dl.doubtnut.com/l/_wev4nTHVaNeP
https://dl.doubtnut.com/l/_yxWJExLqCjBz

3. The image of the point (6,3,-4) with respect

to yz-planeiis

"6 0 —4]
6 —3 4
—6 —3 —4

-6 3 —4

° Watch Video Solution

4. If the distance between the points (-1,-1,2)

and (1,-1,1) is 2 "then" z= . [1,v2,2,0]

o Watch Video Solution



https://dl.doubtnut.com/l/_dRt9sZEm2SKH
https://dl.doubtnut.com/l/_QaAQwygSzqsi
https://dl.doubtnut.com/l/_rH7FeYGBzo4O

5. Identify the axes on which the given points
lie:

(1,0, 0), (0, 1, 0), (0,0, 1)

o Watch Video Solution

6. Identify the planes containing the points !

(77 07 4)7 (27 o 57 0)7 (07 \/57 o 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_rH7FeYGBzo4O
https://dl.doubtnut.com/l/_VYkSHBn4LyOY

7. Determine, which

o View Text Solution

8. Find the projection of the point (7,-5,3) on

xy-plane,

o Watch Video Solution

9.Find the projection of the point (7,-5,3) on yz

-plane,



https://dl.doubtnut.com/l/_Lx4vi2TeIKev
https://dl.doubtnut.com/l/_Vwjohi7ZvW6w
https://dl.doubtnut.com/l/_8p2Exl3Uvm05

o Watch Video Solution

10. Find the projection of the point (7,-5,3) on

zx-plane

o Watch Video Solution

11. Find the projection of the point (7,-5,3) on x-

axis,

o Watch Video Solution



https://dl.doubtnut.com/l/_8p2Exl3Uvm05
https://dl.doubtnut.com/l/_iDg0WkOMQT9R
https://dl.doubtnut.com/l/_syt7H10uO4Yi
https://dl.doubtnut.com/l/_3fLIBNRzujKO

12. Find the projection of the point (7,-5,3) on

y-axis

o Watch Video Solution

13. Find the projection of the point (7,-5,3) on

Z-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_3fLIBNRzujKO
https://dl.doubtnut.com/l/_ZXIdXLeVLZw4

14. When do you say two lines in space are

skew ? Do they intersect ?

° Watch Video Solution

15. From the three pairs of lines given below,
identify those which uniquely determine a
plane:

(1) intersecting pair, (ii) parallel pair, (iii) a pair

of skew lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_UP19amfoNPvr
https://dl.doubtnut.com/l/_pfgGFKnXi3v0

16. Determine the unknown coordinates of the

P(a,2, — 1) € yz — plane

o Watch Video Solution

17. Determine the unknown coordinates of the

Q(—1,y,3) € zz — plane

o Watch Video Solution



https://dl.doubtnut.com/l/_pfgGFKnXi3v0
https://dl.doubtnut.com/l/_9mmlqtegXnzA
https://dl.doubtnut.com/l/_4ue9DkeTsTps

18. Determine the unknown coordinates of the

R(\/Z — 3, c) € xy — plane

o Watch Video Solution

19. Determine the unknown coordinates of the

S(7,y,z2) € x — axis

o Watch Video Solution



https://dl.doubtnut.com/l/_WhcNmPOqkZPH
https://dl.doubtnut.com/l/_XCvjYfTX5Jes

20. Determine the unknown coordinates of the

T(z,0, z) € y-axis

o Watch Video Solution

21. Determine the unknown coordinates of the

V(a,b, —3) € z — axis

o Watch Video Solution



https://dl.doubtnut.com/l/_fStixbcViBbz
https://dl.doubtnut.com/l/_DUG9yGSnL8qD

22. Which axis is determined by the

intersection of xy-plane and yz-plane,

o Watch Video Solution

23. Which axis is determined by the

intersection of yz-plane and zx-plane,

o Watch Video Solution



https://dl.doubtnut.com/l/_VCBPZRioO8TY
https://dl.doubtnut.com/l/_ij4Jv9WLbdRF

24. Which axis is determined by the

intersection of zx-plane and xy-plane.

° Watch Video Solution

25. Which axis is represented by a line passing

through origin and normal to xy-plane,

o Watch Video Solution



https://dl.doubtnut.com/l/_CQSXFGx2STCv
https://dl.doubtnut.com/l/_pMiSBZ7Ezw39

26. Which axis is represented by a line passing

through origin and normal to yz-plane,

° Watch Video Solution

27. Which axis is represented by a line passing

through origin and normal to zx-plane.

o Watch Video Solution



https://dl.doubtnut.com/l/_LqEvNLspd77u
https://dl.doubtnut.com/l/_z6QphmGDQkr8

28. What are the coordinates of a point which

is common to all the coordinate planes.

° Watch Video Solution

29. If AB,C are projections of P(3,4,5) on the

coordinate planes, find PA, PB and PC.

o Watch Video Solution



https://dl.doubtnut.com/l/_BYo88IvviQGx
https://dl.doubtnut.com/l/_kHbeoQLJYnVm

30. Find the perimeter of the triangle whose

vertices are (0,1,2)(2,0,4) and (-4,-2,7).

° Watch Video Solution

31.Show that the points
(a,b,c)(b,c,a) and (c,a,b)

from an equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_2H61pC1zUFmD
https://dl.doubtnut.com/l/_Z8K557GrbNBN

32. Show that the points (3,-2,4)(1,1,1]) and

(-1,4,-1) are collinear.

o Watch Video Solution

33. Show that points (0,1,2),(2,5,8),(5,6,6) and

(3,2,0) from a parallelogram.

o Watch Video Solution



https://dl.doubtnut.com/l/_xPI56EvtVOJz
https://dl.doubtnut.com/l/_jHYOC8ZPtt1A

34. Show taht the line segment joining (7,-6,1)
(17,18,-3) intersect the line segment joining

(1,4,-4),(3,-4,11) at (2,0,3).

o Watch Video Solution

35. Find the locus of points which are

equidistant from the points (1,2,3) and (3,2,-1).

° Watch Video Solution



https://dl.doubtnut.com/l/_jvauxMcMD34K
https://dl.doubtnut.com/l/_efdZnRe7u2rw

36. Find the ratio in which the line segment
through (1,3,-1) and (2,6,-2) is divided by zx-

plane.

o Watch Video Solution

37. Find the ratio in which the line segment

through (2,4,5),(3,5,-4) is divided by xy-plane.

° Watch Video Solution



https://dl.doubtnut.com/l/_N8I10Y8Iiqo4
https://dl.doubtnut.com/l/_7aNpkTIZNSvd

38. Find the coordinates of the centroid of the

triangle with its vertices at

(a'17 b17 cl)7 (a’27 b27 62), a,Ild(Cl,g, b37 C3).

o Watch Video Solution

39. If A (1,0,-1), B (-2,4,-2) and C(1,5,10) be the
vertices of a triangle and the bisector of the
angle BAC, meets BC at D, then find the

coordinates of the point D.

° Watch Video Solution



https://dl.doubtnut.com/l/_7tSM4oaZwl0h
https://dl.doubtnut.com/l/_LKpBP60svuS9

40. Prove that the points P(3,2,-4),0(5,4,-6) and
R(9,8:-10) are collinear. Find the ratio in which

the point Q divides the line segment PR.

° Watch Video Solution



https://dl.doubtnut.com/l/_LKpBP60svuS9
https://dl.doubtnut.com/l/_n3CRsM493XdG

